					SE	LECTED EXC	HANGE RAT	Ē					
	as at FRIDAY, 02 nd November, 2012												
		United States		Australia Dollar (AUD)					New Zealand				
	BUY		SE	LL	В	UY	SELL		BUY		SELL		
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5925	0.6194	0.5705	0.5705	0.5723	0.6033	0.5423	0.5423	0.7144	0.7516	0.6794	0.6794	Westpac Bank of Tonga
ANZ	0.5925	0.6155	0.5705	0.5705	0.5680	0.6070	0.5380	0.5380	0.7126	0.7536	0.6776	0.6776	ANZ
MBf	0.5925	0.6211	0.5705	0.5714	0.5723	0.6024	0.5423	0.5435	0.7144	0.7519	0.6794	0.6803	MBf
Fexco Tonga Ltd		0.6141	0.5757	0.5718		0.6008	0.5485	0.5436		0.7459	0.6965	0.6822	Fexco Tonga Ltd
Rowena					0.5882		0.5494		0.7407		0.6896		Rowena
Melie Mei Langi		0.6289	0.5714			0.6098	0.5435			0.7634	0.6803		Melie Mei Langi
Mana	0.6145	0.6145	0.5925	0.5925	0.6023	0.6023	0.5723	0.5723	0.7494	0.7494	0.7144	0.7144	Mana
Jones Travel Ltd		0.6463		0.5433		0.6374		0.5124		0.7913		0.6453	Jones Travel Ltd
						Source: National Reserve Bank of Tonga							
Notes:	BUY is the rate	e at which forei	gn currency is	changed to pa	a'anga								
	SELL is the rat	te at which pa'a	anga is change	ed to foreign c	urrency								

						LECTED EXC							
	as at FRIDAY, 09 th November , 2012												
		Jnited States	Dollar (USD)		Australia Dollar (AUD)					New Zealand			
	BUY		SELL		BUY		SELL		BUY		SE	:LL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5896	0.6165	0.5676	0.5676	0.5681	0.5991	0.5381	0.5381	0.7203	0.7575	0.6853	0.6853	Westpac Bank of Tonga
ANZ	0.5896	0.6126	0.5676		0.5644	0.6034	0.5344		0.7190	0.7600	0.6840		ANZ
MBf	0.5896	0.6173	0.5676	0.5682	0.5681	0.5988	0.5381	0.5376	0.7203	0.7519	0.6853	0.6849	MBf
Fexco Tonga Ltd		0.6111	0.5758	0.5690		0.5970	0.5465	0.5401		0.7527	0.7046	0.6884	Fexco Tonga Ltd
Rowena					0.5847		0.5464		0.7462		0.6944		Rowena
T&T Money Transfer	0.6213		0.5724		0.6037		0.5437		0.7548		0.6826		T&T Money Transfer
Melie Mei Langi		0.6250	0.5682			0.6061	0.5376			0.7692	0.6849		Melie Mei Langi
Mana	0.6116	0.6116	0.5896	0.5896	0.5981	0.5981	0.5681	0.5681	0.7553	0.7553	0.7203	0.7203	Mana
Jones Travel Ltd		0.6432	0.5406			0.6336	0.5090			0.7980	0.6514		Jones Travel Ltd
		Source: National Reserve Bank of Tonga											
Notes:	BUY is the rate	at which foreig	gn currency is	changed to pa	anga								
	SELL is the rate	e at which pa'a	nga is change	d to foreign cu	rrenc _!								

						LECTED EXC								
	as at FRIDAY, 16 th November , 2012													
	Į	United States	Dollar (USD)		Australia Dollar (AUD)					New Zealand				
	BUY		SE	LL	BUY		SELL		BUY		SE	LL		
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES		
Westpac Bank of Tonga	0.5866	0.6135	0.5646	0.5646	0.5709	0.6019	0.5409	0.5409	0.7232	0.7604	0.6882	0.6882	Westpac Bank of Tonga	
ANZ	0.5866	0.6096	0.5646		0.5660	0.6050	0.5360		0.7204	0.7614	0.6854		ANZ	
MBf	0.5866	0.6135	0.5646	0.5650	0.5709	0.6024	0.5409	0.5405	0.7232	0.7576	0.6882	0.6897	MBf	
Fexco Tonga Ltd		0.6079	0.5721	0.5661		0.5987	0.5497	0.5416		0.7542	0.7078	0.6897	Fexco Tonga Ltd	
Rowena					0.5847		0.5464		0.7462		0.6993		Rowena	
T&T Money Transfer	0.6165		0.5676		0.6049		0.5439		0.7634		0.6912		T&T Money Transfer	
Jones Travel Ltd		0.6401	0.5377			0.6353	0.5105			0.7995	0.6528		Jones Travel Ltd	
									Source: National Reserve Bank of Tonga					
Notes:	BUY is the rate	at which foreig	gn currency is	changed to pa	a'anga									
	SELL is the rate	e at which pa'a	anga is change	ed to foreign co	urrency									

	SELECTED EXCHANGE RATE as at FRIDAY, 23 rd November , 2012 United States Dollar (USD) Australia Dollar (AUD) New Zealand Dollar (NZD)												
	l		Australia Dollar (AUD)				New Zealand						
	BUY		SELL		BUY		SELL		BUY		SE	LL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5880	0.6149	0.5660	0.5660	0.5693	0.6003	0.5393	0.5393	0.7194	0.7566	0.6844	0.6844	Westpac Bank of Tonga
ANZ	0.5880	0.6110	0.5660	0.5660	0.5639	0.6029	0.5339	0.5339	0.7168	0.7578	0.6818	0.6818	ANZ
MBf	0.5880	0.6135	0.5660	0.5650	0.5693	0.5988	0.5393	0.5405	0.7194	0.7576	0.6844	0.6849	MBf
Rowena					0.5847		0.5464		0.7462		0.6944		Rowena
T&T Money Transfer	0.6179		0.5690		0.6033		0.5423		0.7596		0.6874		T&T Money Transfer
Melie Mei Langi		0.6211	0.5650			0.6061	0.5405			0.7692	0.6849		Melie Mei Langi
Jones Travel Ltd		0.6416	0.5390			0.6330	0.5085			0.7957	0.6493		Jones Travel Ltd
									S	ource: Nation	al Reserve B	ank of Tonga	
Notes:	BUY is the rate	at which foreig	n currency is	changed to pa	'ang:								
	SELL is the rate	e at which pa'a	nga is change	d to foreign cu	rrenc								

		SELECTED EXCHANGE RATE											
	as at FRIDAY, 30 th November , 2012												
		United States	Dollar (USD)		Australia Dollar (AUD)					New Zealand			
	BUY		SELL		BUY		SELL		BUY		SE	LL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5904	0.6173	0.5684	0.5684	0.5693	0.6003	0.5393	0.5393	0.7170	0.7542	0.6820	0.6820	Westpac Bank of Tonga
ANZ	0.5904	0.6134	0.5684	0.5684	0.5637	0.6027	0.5337	0.5337	0.7137	0.7547	0.6787	0.6787	ANZ
MBf	0.5904	0.6173	0.5684	0.5682	0.5693	0.5988	0.5393	0.5405	0.7170	0.7519	0.6820	0.6803	MBf
Fexco Tonga Ltd		0.6119	0.5750	0.5698		0.5963	0.5458	0.5394		0.7471	0.6988	0.6832	Fexco Tonga Ltd
Rowena					0.5780		0.5464		0.7462		0.6896		Rowena
Melie Mei Langi		0.6250	0.5682			0.6061	0.5405			0.7634	0.6803		Melie Mei Langi
Jones Travel Ltd		0.6441	0.5413			0.6328	0.5083			0.7924	0.6464		Jones Travel Ltd
	Source: National Reserve Bank of Tonga								ank of Tonga				
Notes:	BUY is the rate	at which foreig	gn currency is	changed to pa	ang:								
	SELL is the rate	e at which pa'a	nga is change	d to foreign cu	rrenc _!								